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(JavaScript)

function goto (x: number, y: number) {
SHITTALELEMY b ALEN("TE", "T5")
programX = x
programy = y

== scene
1f (programX > 8) {
programX += -1
} else if (programy > 6) {
programX =
programy += -1
} else {
programy =
programX = 4

input. onButtonPr‘essed(Euttnn A, function () {
if {

}
} else if (2 == scene) {
if (programX == 0 && programY

goto(1, @)
} else {
scene = 3

}
} else if (3
scene =

if (5 > input.rotation(Rotation.Pitch) || 175 < input.rotati
on(Rotation.Pitch))
FHBERGA += 1
if (6 < 3F¢7‘:$““¥&ﬁﬂ$f’ﬁ) {
scene

lﬁﬂﬁ’ébfah‘ﬁ%?ﬁ'}t;ha‘éu‘fh‘("?é" "F5")

}
} else {

FERM BRG]
}

input.onButtonPressed(Button.AB, function () {

if (1 == scene) {
scene = 2

SHITTBLEVERY v b RLEN (TR, "T5")

images. createImage ("
(R RN

# .. 0#
ExE:
Lo
*).showImage(e, @)
} else if (z == scene || 3 == scene) {
scene =
/ﬁH?’éu\#«\ﬂ%ﬁ‘)t)F‘é’éh&t\("?é" "R
¥
H
function |AfEERFRT (high: number, data: number, &Y 57T
: number) {

#YUS7F = data / high
if (U357 <= 4) {
if (757 == 0) {

} else if (57/ < 0.1) {
led.plotBrightness (&7 ¥ 517, 4, 15)
else if (BJ357M < 0.2) {
led.plotBrightness(£R 9577, 4, 225)
else if (HY57M < 0.3) {
led.plotBrightness(&RY 517, 4, 225)
led.plotBrightness (&7 ¥ 517, 3, 15)
else if (BJ357M < 0.4) {
led.plotBrightness (&R 9577, 4, 225)
led.plotBrightness (&9 51T, 3, 225)
else if (H737M < 0.5) {

225)
225)
led.plotBrightness (&7 ¥ 517, 2, 15)
else if (U357 < 0.6) {
led.plotBrightness (&9 51T, 4, 225)
led.plotBrightness (&9 577, 3, 225)
led.plotBrightness(&~d 51T, 2, 225)
else if (B737M < 0.7) {
led.plotBrightness (3

225)
225)
225)
led.plotBrightness(&R9 577, 1, 15)
else if (HJ357/ < 0.8) {
led. plothghtness(iT?’éﬁ, 4, 225)
led.plotBrightness (& 7, 3, 225)
led.plotBrightness (%9577, 2, 225)
led.plotBrightness (&9 577, 1, 225)
else if (B737/ < 0.9) {
led. plothghtness(iT?’éﬁ, 4, 225)
led.plotBrightness (& 17, 3, 225)
led.plotBrightness (%79 577, 2, 225)
led.plotBrightness (%79 577, 1, 225)
led.plotBrightness (&9 577, @, 15)
else {
led.plotBrightness (& 4, 225)
led.plotBrightness (%79 577, 3, 225)
2, 225)
led.plotBrightness (&9 51T, 1, 225)
led.plotBrightness (%79 577, 0, 225)

}

)nput onButtonPressed(Button.8, function () {
£ (1 == scene) {
if (programX < 4) {
programX +=
} else if (programy < 4) {
programX = 0

} else if (2 == scene) {
if (programX == 0 8& programy == 0) {

goto(o, 2)
} else {
scene =3

¥

} else if (3 == scene) {
scene = 2

}

H

function E—4—H—RESHSMAE (E—4—or ¥—k: string, HE
: number, JEE or BE: number) {

== E—%—or ¥—7K) {

Kitronik_Robotics_Board.servoWrite(Kitronik_Robotics
_Board.Servos.Servol, 90 - & or i)
} else if (2 == &#S) {
Kitronik_Robotics_Board.servoWrite(Kitronik_Robotics
_Board.Servos.Servo2, 75 + & or )

¥
} else if ("#—R" == E—F—or H—K) {
if (3 == E8) {
Kitronik_Robotics_Board.servoWrite(Kitronik_Robotics
_Board.Servos.Servo3, E&or A % 180)
} else if (4 == #S) {

Kitronik_Robotics_Board.servoWrite(Kitronik_Robotics L
_Board.Servos.Servo4, & or fE % 180) e
*).showInage (o, ©)

} led.plotBrightness(1, 1, 30)
} led.plotBrightness(1, 2, 30)
function FHLEVEMYEYRTBLAL GEKTTBLAL: string, B led.plotBrightness(1, 3, 30)

MUt yhgBLEL: string) { led.plotBrightness(e, 2, 30)

if ("FB" == WRUEYRTALEL) { } else { ‘
counter = @ images.createImage(

Kitronik_Robotics_Board.allOff() ; : .
speedl = 0 ‘-
speed2 = 0 R

REVRIBLADVE—A = 0

RevRE|LADLS—B = *).showImage(0, 0)

led.plotBrightness(3, 1, 30)
led.plotBrightness(3, 2, 30)
led.plotBrightness(3, 3, 30)
led.plotBrightness(4, 2, 30)

©

}
} else if (1 == programX & @ == programy) {
images. createImage("
=@ R

L
*).showImage (o, 0)
BKXIEfERTIT(100, A_average, @)

B_average = @

E—4— SESARE("Y— 1- 3, @) BAEERTRIT(60, B_average, 1)

-‘.E—’i—*i— iééﬁf’*( “H—AR", 4, 90) E-A—Y—ARESESHE(CE-S—", 1, 90)

if ("9R" == EITHLEL) { HESRSHECE—S—", 2, 27)
images.createImage (" /\ﬁ%ﬁéﬁé(”ﬂ N ,3 ‘9)

REFLETOVI()
if (A_average < 3 && 30 < counter) {
goto(2, @)

:):sf‘ohnﬁage(e ) } else if (2 == programX & © == programY) {
3 ’ images.createImage( "
Lot

let sdfgvcfxg
let B_average e
Lt
*).shouImage(o, @)
basic.pause(500)
sdfgvcfxg =
-e for (let index = 6; index < 10; index++) {
basic.pause(15)
sdfgvcfxg += 2
E-H—Y—

FAE("Y—K", 3, sdfgvcfxg)

}
programx = 3

©

- programX & ©
images. createImage(
EEETE

let RavEBLHADYVS—B = 0 programY) {
let REVRILHAVUS—A = 0
let speed2 = 0
let speedl = @
let counter = 0

let ' w
let =@ ).showImage (0, 0)
Jet BAMERTIT(100, A_average, 0)
let programX BAMEER ’(se% Eéa;‘er‘age, 1)
3 AN i P « = - E-S—Y—RESESAFE("E—S4—", 1, -90)
p'iﬁzj’&“ew“t’w&“ (e ren TS Y RERESAE(E—5—", 2, -16)
programy = @ E4—H—RESHESAE(Y—K", 3, 20)
basic For‘ever(Functlon [OX¢ RRELETOV()
f (1 == scene) { if (A_average > 70 & 3@ < counter) {
counter 1o 1 Kitronik_Robotics_Board.alloff()
images.createImage (" basic.pause(500)
R sdfgvcfxg =
for (let index = 0; index < 20; index++) {
basic.pause(30)
sdfgvcexg += 8
e ES—H—RESHESHECY—K
*).showImage(e, @) ", 3, sdfgvcfxg)
if (counter % 2 == 1) {
led.plotBrightness(progranX, programy, 255) programx
} else { programy
led.plotBrightness(progranX, programy, 16) }

} else if (4 == programX && 3
if (A_average < 3) {
images. createInage ("
N

} programy) {
if (input.buttonIsPressed(Button.A)) {

REVRIBLADILE—A += 1

if (6 < RAVRBLADLE—A) {

if (programX > @) { L
programX += -1 LH L
} else if (programy > ) { L
programX = L
programy += -1 ") .showImage(@, @)
} else { } else {
programy = 4 images. createImage ("
programX = 4 R
L.
¥ CE
} else { L.

REVRIBLADVE—A = NE T
} *).showImage(e, ©)
if (inpuLl:;uttonIsPressed(Buttun.B)) { ) ﬁze 1f (0 = progrank 88 4 - programy {
REVRILADLE—B += 1 s == X ==
if (6 < REVRMLADLE—B) { images. creaternage(

if (programx < 4) { P

programx += N
} else if (programv <4y { #

programX = ©

programY += 1
} else {

prograny = 0

programX = ©

L # L
*).showlmage(0, @)
RAFILETOVS()
} else if (2 == programX && 4 == programy) {
images.createImage("

¥
} else {
REVRIBLAVVS—B = 0

¥
basic.pause(60)
} else if (2 == scene) { Xrﬁ)rﬁsihowmage‘e a)
i 4 8& programY == 4)) { . BABEERRT ) .
(300, input.acceleration(Dimension.X), ©)
BABEERRT
(300, input.acceleration(Dimension.Y), 1)
BABEERRT

(300, input.acceleration(Dimension.z), 2)

A HAfEERTIT(180, input.rotation(Rotation.Roll), 3)
A = sonar.ping( HAfEERTIT(180, input.rotation(Rotation.Pitch), 4)
DigitalPin.p2, } else if (3 == programX & 4 == programy) {

DigitalPin.P13, images.createImage(
PingUnit.Centimeters Ce

if (A == 0) {

A = Math.round( (A1 + (A2 + A3)) / 3)
} else if (140 < A) {

A = 140

*).showImage (o, 0)

} BAEERTIT(80, A_average, @)
A_average = Math.round((A + (A1 + (A2 + (A3 + (A4 + HAfEERRIT(60, B_average, 1)

A5))))) / 6) } else if (4 == programX && 4 == programY) {
B4 B3

images. createImage(

sonar.ping(
DigitalPin.P14, TP
DigitalPin.P15, ") .showImage(e, @)

PingUnit.Centimeters }
} else if ( cene) {
© || 30 < Math.abs((B1 + (B2 + (B3 + B4))) images.createImage("
B = Math. round((al + (B2 + B3)) / 3) R
}e15e1f<5a<s N
B R
B_average = Math.round((B + (B1 + (B2 + (B3 + B4)))) *). showImage (o, 1)
/5) iiﬁﬂ?‘élﬁ;b\ﬂ%?ﬁl‘)tvF?’%JLUL\("LQ‘L\“ "¥5")

} else if (4 ne) {
/ﬁﬂ?’élﬁab‘ﬂ%?ﬁﬁl‘)t/F?’%JL%L‘("T%:” A"

scene = 1

}
if (0 == programX & © == programy) {
if (counter % 6 < 3) {
images. createImage ("
L # L
L ##
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